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327 a) KNF is awa?ys wmpac-c, KAF ¢ K =

KNE s bounded . Alio /A F s closed $Sine

both I and T oare closed Thus KNF s &om,umf.

L) Closure 0f a:q/ Set (s closed =
Feuke 15%d let F =K = [0,1]  4hen
FCUKS = (00,000 (1, +0) anmd FCUkc

= (- » 0] ULll,+0) (s not pounded. Tiws

Feu K° Irvmé; not pe “0.4,-/3-.51::'5.

o) If K=100,1] and F =[0,% 7, then
K\NF - (%,1) s not closed = also not
com;ma.% ,

) Sine KNFS c K = KAFC is bounded

K/H-—C (S ﬁlSO closed = KNAF< 15 &or/r/r,DaLZL-

True

#3.3. 5, a)\ff) Ka be all compact Qe

Then NKy 15 closed
Ae N

/

1

[N

: ! { /
1 €y 18 opunded PNV /] ! Kol 74

e T4

] ]
= /LKy i Compart
A€
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U Kn = N 15 not bdd =5 not cpet .

(b) Falsc. Scfs KV, :fn z Are jawlbac%,

n=|

€) False A =(0,1), K=(0,’]

St ANK =< {0)() (s not closed = not CIDC‘TI",
(d) Falie. Let An =0ln,+2)  An rs closed
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